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% # W - Ak C: # 8 B & B\ #H B
EixR{f 5,599, 758
BRDERBRAER 5,599, 758
BRDERBRAER 5,599, 758
BRDERBRAER 5, 406, 350
ETEE R 415, 450
1 StE#(R 1.00 415, 450 415, 450
e
TEDMHE 1,527,950
2 BRDIEE 1.00 302, 950 302, 950
fr—2
3 EETULY 1.00 765, 000 765, 000
e
4 FEDHE 1.00 460, 000 460, 000
e
7 oir—rRE 879, 600
5 7u—FRE 1.00 879, 600 879, 600
=
{EREDETA 1,190, 400
6 #Wxk R MEIRZIR 1.00 198, 400 198, 400
fr—2
T BEXEHORIYE - —REYEEIR 1.00 198, 400 198, 400
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8 BEXFOERHEEDOEEBHR 1.00 198, 400 198, 400
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10 SMIRY IL— XD A B & 5 EEE 1.00 198, 400 198, 400
SEURE DR MR R
11 EEMHMR 1.00 198, 400 198, 400
r—2
B RO ST - 5T 518, 500
12 BiEshRoO o4 - FFHi 1.00 337,900 337,900
r—2
13 BE~NOEFDIERE 1.00 180, 600 180, 600
r—2
& - |E 423,100
14 EqiI%HE 1.00 117, 400 117, 400
=
15 RS 1.00 117, 400 117, 400
=
16 ZIE|E 1.00 188, 300 188, 300
=
RR 451, 350
17 |ESER 1.00 451, 350 451, 350
=
EERE 193, 408
EHRARE 49, 832
18 EHEALE 1.00 49, 832 49, 832
=
BR 64, 000
19 ¥ ReE 1.00 64, 000 64, 000
=
Z 0t 42,000
20 T2 YUTREER 1.00 42,000 42,000
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% g - AKSTiE Bifr B 2 B i & 8 W =
BRI 5,406,350 + 193, 408 5,599, 758
BEEAGE 5, 406, 350
BE#ERE 193, 408
T DR 5,406,350 x 53.85% ( 35% + (1 — 35%) ) 2,911,319
BRI 5,599, 758 + 2,911,319 8,511,077
—REEES 8,511,077 x 53.85% ( 35% = (1 — 35%) ) — 4,291 4,578,923
KBS 8,511,077 + 4,578,923 13,090, 000
HETR SR L 13,090,000 x 10.00% 1,309, 000
EBERN 13,090,000 + 1,309, 000 14, 399, 000
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HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1E%HeH - 1.00K 415, 450. 00 415, 450
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2 b g - BIRTE BT H = B O ) # " =
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.50 45, 300. 00 67,950
AR (C)
A 2.50 35, 600. 00 89, 000
g
A 2.00 31, 600. 00 63, 200
& B YEZEREDN 1,005 —R 302, 950. 00 302, 950
5.3
W EETULY 14y
2 b g - BIRTE BT B = B Ol ) # " =
FEHRAR (F%ET)
A 5.00 62, 200. 00 311,000
AR (A)
A 5.00 55, 200. 00 276, 000
AR (C)
A 5.00 35, 600. 00 178, 000
& Hi 1E%HeH - 1.00K 765, 000. 00 765, 000
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A 2.00 62, 200. 00 124, 400
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A 3.00 55, 200. 00 165, 600
AR (C)
A 3.00 35, 600. 00 106, 800
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A 1.00 62, 200. 00 62, 200
AR (A)
A 2.00 55, 200. 00 110, 400
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 4.00 35, 600. 00 142, 400
g
A 15. 00 31, 600. 00 474, 000
& B 1E%HeH 1,00 879, 600. 00 879, 600
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2 b g - BIRTE = v = BHO(f %8 # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZEREDN - 1.005—R 198, 400. 00 198, 400
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2 b g - BIRTE L= vd = B oO(f %8 W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZERED - 1.005—R 198, 400. 00 198, 400
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£ EXRBFORBRES ORISR 1r—2%Y
2 b g - BIRTE L= vd = B oO(f %8 W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZEREDN : 1.005—R 198, 400. 00 198, 400
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£ BERFEORRESOEMHE 1r—2%Y
2 b g - BIRTE = v = BHO(f %8 W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZEREDN : 1.005—R 198, 400. 00 198, 400
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2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZERED - 1.005—R 198, 400. 00 198, 400
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& EEMHR 1r—2%Y
2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZEREDN : 1.005—R 198, 400. 00 198, 400
&5 12
¥ BiESROSH - 5FHE 1r—2%Y
2 b g - BIRTE = v = BHO(f %8 # " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 2.00 35, 600. 00 71,200
& Hi YEZEREDN 1,005 —R 337, 900. 00 337,900
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FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi YEZERED - 1.005—R 180, 600. 00 180, 600
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2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
&5 .15
& PRERE HEED)
2 b g - BIRTE = v = BHO(f %8 # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHER - 1.00[E 117, 400. 00 117, 400
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A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
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2 b g - BIRTE L= vd = B oO(f %8 W = " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
e (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 3.00 35, 600. 00 106, 800
& Hi 1E%HeH 1,00 451, 350. 00 451, 350
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= 1.00 49, 832. 00 49, 832
& Hi 1YE%HeH - 1.00K 49, 832. 00 49, 832
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&= .19
2% EBHRRE 1=
2 b g - BIRTE X = il ) # " =
EBHRERERE
= 1.00 64, 000. 00 64, 000
& Hi 1E%HeH - 1.00K 64, 000. 00 64, 000
E5:2
& E=AUUIREE 1=
2 b g - BIRTE X = il ) # " =
E-RYUTREE
= 1.00 42,000. 00 42,000
& Hi 1E%HeH - 1.00K 42,000. 00 42,000
= : 21
£ RE GRETER) 1XEY
2 b g - BIRTE By = il ) # " =
REBEE HEE (GES)
= 1.00 37,576. 00 317,576
& B 1E%HeH 1,00 37,576. 00 317,576




